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m = 2 <=> a = 22 ?@ > b = 5 ?@ > c = 6 ?@ >
S = [2036, 2038, 2040, 2043] <= ?@A? B
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m = 5 <=> a = 6 ?@ > b = 3 ?@ > c = 2.5 ?@ >
S = [330, 332, 335, 339] <= ?@A? B
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m = 4 <=> a = 4 ?@ > b = 4 ?@ >
S = [1024, 1026, 1029, 1033] <= ?@A? B
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m = 1 <=> a = 6 ?@ > b = a
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α = π/6 > S = [6, 8, 11, 14] <= ?@A? B
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m = 2 <=> a = 8 ?@ > b = 4 ?@ >
~S ⊥ AB > S = [12, 14, 16, 20] <= ?@A? B
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m = 2 <=> a = 8 ?@ > b = 2 ?@ >
S = [400, 402, 405, 409] <= ?@A? B
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m = 2 <=> a = 6 ?@ > b = 2 ?@ >
c = 2 ?@ > S = [160, 162, 165, 169] <= ?@A? B
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m = 1 <=> a = 3 ?@ > b = 1 ?@ >
S = [268, 269, 272, 275] <= ?@A? B
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A

m = 2 <=> R = 6 ?@ > r = 3 ?@ >
S = [90, 92, 94, 97] <= ?@A? B
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m = 3 <=> a = 9 ?@ > b = 6 ?@ >
c = 2 ?@ > S = [702, 704, 707, 710] <= ?@A? B
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m = 4 <=> a = 4 ?@ > b = 4 ?@ >
c = 3 ?@ > S = [356, 358, 361, 365] <= ?@A? B
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m = 4 <=> a = 7 ?@ > b = 4 ?@ >
c = 2 ?@ > S = [500, 502, 505, 509] <= ?@A? B
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m = 1 <=> R = 2 ?@ > r = 1 ?@ >
S = [37, 38, 40, 44] <= ?@A? B
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m = 113 <=> a = 4 @ > b = 5 @ >
c = 1 @ > S = [285, 287, 289, 293] <= @A? B
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m = 13 <=> a = 1 @ > b = 2 @ >
S = [11, 12, 15, 18] <= @A? B
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m = 25 <=> a = 2 @ > b = 4 @ >
S = [11, 13, 16, 20] <= @A? B


